P= 10,000 T= 23CC0.

C-37
NTOT=3.19E 18 DEBYE=8.37E~-07 LAMBDA=4.61E Ol LNLMBD= 3.83

N1=1.56203E 1€ N2=1.01C89E 17 N3=1.4939C(E 18 N4=3,40643E 16 N5=3.88423E 11

B
0.
5C0.
106C0.
2500.
5000.
75C0.
160CO.
25000.
50000.
100000.
150000.

P=  1€.000 T= 24000.

B
0.
5C0.
1CCO.
2500.
5000.
7500.
10000«
250C0.
50000.
1000C0.
1500€C0.

P= 10,000 T= 25000.

B
0.
5C0.
10C0.
2500.
5000.
75C0.
10GCO.
25000.
50000.
1000CO0.
150000.

P= 10.000 T= 26000.

B
Oe
5C0.
1000.
25C0.
5000.
75C0.
10000.
25000.
50G6C0.
100000.
150000.

Cr-T4U
0.00E-C1
-2.07E-C3
-4.13E-C3
-1.C3E-02
-2.C7€E-02
-3 +,10E-C2
-1.C3E~C1
-2.07E-C1
=44 13E-C1
-6.20E-C1

CM=-TAY
0.CCE-C1
-2.165-03
-4.31E-C3
-1.C8E-C2
-2.16E-Q2
-3.24E-02
-4 .,31E-C2
-10C8E-01
-2.16E-Cl
-4.31E-C1
-6.47E-C1

CM-TAU

0.C0E-01
-2+21E-03
-4.43E-C3
-le.11E-02
-2.21E-02
-3.32E-C2
-44,43E-C2
-1.11E-01
-2.21E-C1
-4,43E-01
-6.€64E-01

CM-TAU
0.C0E-O1
-2.23E-03
-4 .46E-C3
-1.12E-C2
-2+23E-C2
-3.35E-02
-4 .46E-C2
-1.12E-01
-2,23E~-01
-4446E-01
-6.6GE-01

SIc-1
1.58E
1.58E
1.58E
1.58E
1.58E
1.57E
1.57E
1.52E
1.38E
1.03E
7.36E

SIic-1
l.62E
1.62E
1.62E
1.€2E
1.61E
1.€1E
l.61E
1.55E
1.40E
1.01E
T.17E

SiG-1
1.64E
l.64E
1.64E
1.63E
1l.63E
1.62E
L<STE
1.40E
1.00E
7.00E

SIG-1
1.64E
1.64E
l.64E
1.64E
l.64E
1.63E
1.€3E
1.57E
1.39E
9.89E
6.89E

02

02
02
02

02
02
02
02
02
02
02
02
02
02
01

51G=2
0.00E-0C1
5084&"0 1
1.17E
2.92E 00
5.83E
8.7T2E
1.16E 01
2.80E 01
5.03E 01
7.23E 01
7.50E 01

SIG-2
0.00E-01
6.29E-01
1.26E 00
3.14E 00
6.27E 00
9.39E 00
1.25E
3.01E 01
5.34E 01
T.48E
T7.63E

SIG-2
0.00E-01
6.60E-01
1.32E CO
3.30E €O
6.58E
9.85E CO
1.31E 01
3.15€E 01
5.54E 01
T.62E
T.68E

SIG-2
0.00E-01
607‘0E-°1
1.35E
3.37E
6.73E 00
1.01E
1.34E
3.21E
5.62E
T.64E 01
7.65E

DT-1
1.15E-006
1.15E=-06
1.15E-06
1.15E-06
1.15E-06
1.14E-06
1.08E-06
8.91E=07
4.T8E-07
2. 08E-07

DT-1
1.24E-06
l. 24E-06
1.24E-06
1.24E-06
1.24E-0¢
1.23E-06
1.23E-06
1.15E-06
9.36E-07
4.T5E-07
1.93E=-07

DT-1
1.33E-06
1.33E-06
1.33E-06
1.32E-06
1. 32E-06
1.32E-06
1.31E-06
1.22E-06
9.79E-07
4.T6E-07
1.83E-07

DT=1
1.40E-06
1. 405-06
1l.40E-06
1.40E-06
1.40E-06
1.39E-06
1e 39E-06
1.29E-06
1.02 E-06
4,83E-07
1.79E-07

DT-2
0.00E-01
6.4T7E-09
1.29€-08
3.24E-08
6.46E-08
9,66E-08
1.28E-07
3.07E-07
6.64E-07
5.91E=07

DT=2
0.C0E-01
7.37E-09
1.47E-08
7.35E-08
1.10E-07
1.46E-07
3""7E-07
5.88E-07
7.126-07
6.17E-07

DT-2
0.00E-01
8.20E-09
l.64E-08
4.10E-08
8.18E-08
1.22E-07
1.62E-07
3.84E-07
6.43E"07
T«56E=-07
6.43E-07

DT-2
0.00E-01
8.92E-09
1.78E-08
4 046E-08
8.92E-08
1.33E-07
1.76E-07
4,16E-07
6.91E-07
7.97€-07
6+69E-07

LAM-1
4.59E
4459E
4.59E
4.59E
4 .58E
4.58E
4.57E
4.,49E
4.21F
3.41E
2.65E

NTOT=3.06E 18 DEBYE=8.66E-07 LAMBDA=4.98E 01

LAM=-1
4 J94E
4 J94E
4 J94E
4 94E
4.94F
4.93E
4.92E
4.82E
4 .49E
3.56E
2.72E

NTOT=2.94E 18 DEBYE=8.93E~-07 LAMBDA=5.34E 01

LAM-1
5.29E
5.29E
5.29E
5.28E
5.28E
5.27E
5.26E
5.14E
4.75E
3.70E
2.T9E

NTOT=2.82E 18 DEBYE=9.17E-07 LAMBDA=5.71FE Ol

LAM-1
5.61E
5.61E
5.61E
5.61E
5.61E
5.60E
5.58E
5.45E
5.01E
3.84E
2.86E

LAM=-2
0.00E-01
1.32E-01
2.64E-01
6.61E-01
1.32E 00
1.98E 00
2.63E 00
5.45E 00
1.20E 01
1.89E 01
2.10E 01

LNLMBD= 3.91
N1=1.52387E 18 N2=7.21529E 1€é N3=1.40026E 18 N4=6.,18036E 16 N5=1.81126E 12

LAM=-2
0.00 E—Ol
1.51£-01
3.03E-01
T.57TE~-01
1 «5LE" 00
2.26E 00
3.01E ©O
T.36E 00
1.36E 01
2.09E 01
2.27F 01

LNLMBD= 3.98
N1=1.49375E 18 N2=5.25880E 16 N3=1.28517E 18 N4=1.04283E 17 N5=7.30698E 12

01
01
0l
01
0l

LAM=2
0.00E-01
1.70E-01
3.41E-01
8.51E-01
1.70E 00
2.55E 00
3.39E CO
8.25E €O
1.51E Cl
2.27E Q1
2.43E 01

LNLMBD= 4.04
N1=1.47364E 18 N2=3.87845E 16 N3=1.14731E 18 N4=1.63123E 17 N5=2.55764F 13

01
01
01
01
ol
01
01
01
0l
01
01

LAM-2
0.00E-01
1.88E-01
3.76E—01
9.40E-01
1.88E 00
2.81E 00
3.74E 00
9.09E 00
1.65E 01
2..44E 01
2.57E 31




P= 50.000 T=

2000.

C-38

N1=4.C3232E (7 N2=1.22325E 2C N3=4.03232E 07 N

B
0.
5C0.
1000.
25C0.
5000.
7500.
10000.
25000,
500C0.
1C0000.
150000.

pP= 50.0C0 T=
N1=9.00220E 10

B
O
5C0.
1000.
2500.
5000.
7500.
10000.
25000.
50CC0.
100000.
150000.

P= 50.000 T=
N1=6.33565E 12

B
0.
500.
1000.
2500,
5000.
7500.
10000.
25C000.
50000.
10C000.
150000.

P= 50.000 T=

OM-TAU  SIG-1
0.C0E-01 8.43E-08
-2.14E-02 8.31E-08
-4.29E-02 7.S7E-C8
-1.C7E-01 6.36E-08
-2.14E-C1 4.49E-08
-3,216-C1 3.30E-08
-4.29E-C1 2.46E-0¢
-1.07€ 00 7.93E-09
-2.14E CO 3.28E-09
-4.2SE 00 1.14E-06
-6.43E 00 5.67E-10
4000.

CF=TAL SIG-1

0.00E-C1 1.80E-04
=1.66E-C2 1-76E-04
=3.23E=-02 1,66E-04
-8.32E-02 1.24E-04
=1s€6E=Cl '9.01E=05
=2+49E=01 6.S5E~05
=3s33E~01. 5+34E=-05
=8s32E~01 1.81E=05
-l.6€6E CO 7.92E-06
=333k 00, 3.03E=0€
=4 .,99E 00 1.5€E-06

5000.

SI1G-2
0.00E-01
9.20E-09
1.75E-C8
3.26E-08
3-65E-08
3.34E-08
2.98E-08
1.77E-08
1.06E-08
5.66E-C9
4.12E-09

S1G-2
0.00E-01
2.33E-05
4.29E-05
7.12E-05
7.12E-05
6.35E~-05
5.68E-05
3.62E-05
2 .20E-05
1.28E-05
9.02E-06

SIG-2
0.00E-01
2.28E-03
4,08E-03
6040E‘03
6.37E-03
5.70E-03
5.12E-03
3.47E-03
2.16E-03
1.29E-03
9.16E-04

D=1
=1l 29E=16
-1.26E-16
-1.19E-16
=-8.58E-17
-5.01E-17

=3ec2t=11]1

=~1aFTE=17
2.58E-18
4.19E-18
2.14E-18
1+,22E=18

DT-1
~4,30E-13
-4,18E-13
-3.88E=-13
-2.54E-13
-1.47E-13
=1 e03E=3
-6.94E-14

1.25E-15

1.13E-14
6.94E~-15
4.12E-15

D¥=1
=5.38E=11
-5.19E-11
-4.72E-11
-3.10E-11
-l.74E-11
=Le33E=11
-9.78E-12
=T+ 15E=13

1ol E=12
9.02E-13
5.63E-13

N1=2.08537E 14 N2=6€6.,11620E 19 N3=2.CE537E 14 N

B
0.
500.
10C0.
2500.
50C0.
7500.
100C0.
25000.
50000.
1000C0.
150000.

GM-TAU SiGrl

0.00E-01 1.67E-02
=1+28E=02 1L.63E=D2
=2udTE=02 T1552E=02
=6,892E=02, 1.,13E=02
=1e38E=01. 8.,24E~-03
-2.07E-01 6.75E-03
=2 HTE=01, S5<45E=D3
=63 572E=CYl 1.S8E-03
-1.38t 0C 8.72E-04
=21 TE £0 3.52E~04
-4.15E 00 1.85E-04

6000.
Gk-TAU SIG-1

0.0CE-C1 2.68E-01
=lsl9k=02 2,65£=01
=2.38E=02 Z2.56E-01
=5.54E-02 2.15E-01
-1.19E-C1 1.56E-01
-1.,78E-C1 1.36E-01
-2+328E=01 1.16E-01
-5.54E-C1 4.80E-02
-1.16E CO 2.09E-02
-2.38E CO 8.60E-02
-3.57€E 00 4.&3E-03

SIG-2
0.00E-01
2.48E-02
4,70E-02
8.86E-°2
1.05E-01
1.02E-01
9.55E-02
7.05E-02
4 .60E-02
2.79E-02
2.01E-02

DT-1
-8.8BE-10
-8.T6E-10
-8.45E-10
-6.86E-10
=383 E=1D
-30255-10
=2.60E~-10
-4.43E-ll

2:17E=11

2.29E-11
1.52E-11

DT=2

0.00E-01
=182E=17
=3 G3E=17
=6lg L TE=ILY
=6.,33E=117
=5.32E=17
=4<39E-17
=1 9TE=AT
-7.10E-18
-1.86E~18
-7080E619

DT-2

0. 00E-01
-7.07E-14
~1.29FE=13
~2:07E=13
~1+91F~13
=12 57E=13
-1.30E-13
-6.19E-14
-2.49E-14
=T:03E-15
=3 01E=1S

DIs2

0. 00E-01
-9.26E-12
-1.656-11
—2.49E-11
=-2+.30E-11
-1.91E-11
-1.60E-11
=Te92E=12
=3.50E=12
=1%0TE=12
-4,68E-13

oT-2

0.00E-01
-9.495-11
-1.82€E-10
-3.57E-10
‘4.285-10
-4.03E-10
-3.60E-10
-1.98E-10
=-9.T1E~11
-3.20E~11
-1.45E-11

LAM-1
1.33E-09
1.33E~09
1‘31E-09
1.21E-09
1.03E-09
8.87E-10
7.83E-10
5.49E-10
2.97E-10
1+23E-10
7.08E-11

LAM-1

«£2E-06
3.50E'06
3.44E-06
3.17E-06
2. 70E-06
2.35E-06
2-08E'06
1-50E'06
8.94E-07
3.89E-07
2.26E-0T7

LAM-1
3.96E~-04
3.95E-04
3.92E-04
3.67E-04
3.17E-04
2.7T7E-04
2.4TE-04
1.78E~04
1.15E-04
527505
3-095‘05

LAM-1
6046E'03
6.49E-03
6 .58E-03
7.02E-03
T.24E-03
6.85E-03
6.30E-03
4+33E-03
3.01E-03
1.47E-03
8. 77E-04

NTOT=1.22E 2C DEBYE=5.95E-02 LAMBDA=4.27E 05 LNLMBD=12.97

LAM-2
0.00E-01
7.00E-11
1,36E-10
2.91E-10
4.11E-10
4<51E-10
4.64E-10
4.30E-10
3065E-10
25T E~10
1.93E-10

NTOT=S.17E 19 DEBYE=1.45E-03 LAMBDA=1.39E 04 LNLMBD= 9.54
N2=9.17437E 19 N3=9.00220E 10 N

LAM-2
0.00E-01
1.94E-07
3.72E-07
7.59E-07
1.05E-06
1.165-06
1.18E-06
1 +11E-D&
R.40E-07
7.12E-07
3.43E-07

NTOT=7.34E 1S DEBYE=1.60E-04 LAMBDA=1.91F 03 LNLMBD= 7.56
N2=7.33950E 19 N3=9.33565E 12 N

L AM-2
0.00E-01
1 72E=05
3.50E-05
8.01E-05
1016E-04
1.29E-04
1.33E-04
1.27E-04
1.06E-04
8.62E-05
6.T1LE-05

NTOT=6.12E 19 DEBYE=3.70E-05 LAMBDA=5.32E 22 LNLMBD= 6.28

LAM=-2
0.00E-O1
4+27E-05
8 «53E-C5
4 ,37E-05
1.03E-03
1.84E-03
2.33E-03
2.88E-03
2.41E-03
2.14E-03
1.71E-03




